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1MPa=1.01972x 10kgf/cm? |

1kgf/cm®=9.80665 X 10°MPa

21 (SIBiT) [CDUWT

@ @ HE
N dyn kef | Pa-s cP P |
1 1x10° |1.01972%10" 1 1x10° 1X10
1x10° 1 1.01972x10° 1x10°% 1 1x10%
9.80665 [9.80665x% 10° 1 1x10" 1x102 1
i : 1P=1dyn-s/cm®=1g/cm-s.
1Pa-s=1N-s/m?, 1cP=1mPa-S
@t @ FiuE
PaX[&N/m? [MPaX[EN/mm?| kef/mm? | kgf/cm® | m°/s cSt St |
1 1x10° [1.01972x107(1.01972x10° 1 1x10° 1x10*
1%x10° 1 1.01972x10"| 1.01972% 10 1x10° 1 1x10?%
9.80665%10°| 9.80665 1 1x102 1x10% 1x10°2 1
9.80665% 10%|9.80665%102| 1x 102 1 3% 1 1St=1cm?/s. 1cSt=1mm?/s
3 1Pa=1N/m?, 1MPa=1N/mm?
® £h
Pa kPa MPa bar kegf/cm® atm mmH,0XlgmmAq| mmHgX (& Torr |
1 1x10° 1x10° 1x10° |[1.01972x10°(9.86923x10°(1.01972x10"|7.50062% 10°
1x10° 1 1x10°% 1X102 |[1.01972x10?|9.86923x10°|1.01972x10°| 7.50062
1x10° 1x10° 1 1x10 1.01972x10 | 9.86923 |1.01972x10°|7.50062% 10°
1x10° 1x102 1x10" 1 1.01972 |9.86923%10"'|1.01972%10*| 7.50062x 10°
9.80665x% 10* | 9.80665x 10 |9.80665% 10?[9.80665% 10’ 1 967841x10'| 1x10* |7.35559%x10°
1.01325%10°| 1.01325%x10%|1.01325x 10| 1.01325 1.03323 1 1.03323x 10| 7.60000% 10°
9.80665 [9.80665%10°(9.80665x10°(9.80665%10°| 1x10* [9.67841%X10° 1 7.35559% 10%
1.33322x 10| 1.33322x 10" | 1.33322x 10*| 1.33322% 10°| 1.35951 % 10°| 1.31579x 10°| 1.35951X 10 1
F : TPa=1N/m?
@ 1= - IRILF—--#B= @ AGER
J kW-h kef-m kcal | W/ (m-k) Jkcal/ (h-m-T) |
1 2.77778%107[1.01972x10"|2.38889x 10* 1 8.6000x 10"
3.600x 10° 1 3.67098x10°| 8.6000% 10° 1.16279 1
9.80665 [2.72407x10° 1 2.34270x10° ¥ 1 1cal=4.18605J (Gt&%IC&?)
4.18605% 10%[1.16279% 10°| 4.26858% 10° 1 _
¥ :1J=1W-s, 1J=1N-m. 1cal=4.18605J Et=£lCLD) @ FMTIERRLS
W/ (m?-k) |[kcal/(h-m?-C) |

@ A5R (I - 8H) iR

W

kegf-m/s

PS

kcal/h |

1

1.01972x10"

1.35962x10°

8.6000x 10"

9.80665

1

1.33333x10?

8.43371

7.355% 10°

7.5X%X10

]

6.32529% 10°

1.16279

1.18572x10"

1.58095%10°

1

E D TW=1J/s

. PS:LEAH

1PS=0.7355kW (GtEEMEITEICELD)
1cal=4.18605J (Gt&%ICLD)

CKD

1 8.6000x 10"
1.16279 1
it 1cal=4.18605J (Et&EICL D)
@ LtEh
J/ (keg-k) |keall (g'C) cal (g°0) |
1 2.38889x 10*
4.18605% 10° 1

¥ 1 1cal=4.18605J (Gt&%ICKD)



